1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

#### Project Name: UNIVERSITY WASH CHANNEL, STAGE 3

 Project Number:
 1-0-0120-03

 Bid Open Date:
 9/28/2016

**Bid Abstract** 



Page 1 of 10

			ENGINEER'S ESTIMATE			MAMCO, INC. dba ALAB	BASI	H & H GENERAL CONTRACTORS, INC.	
ltem	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$50,000.00	\$50,000.00	\$106,571.00	\$106,571.00	\$180,000.00	\$180,000.00
2	WATER CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00	\$6,000.00	\$6,000.00
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$16,000.00	\$16,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$25,000.00	\$25,000.00	\$40,000.00	\$40,000.00	\$61,000.00	\$61,000.00
5	WORK EXCAVATION	C.Y.	17000	\$15.00	\$255,000.00	\$9.50	\$161,500.00	\$11.00	\$187,000.00
6	ASPHALT CONCRETE EXCAVATION	S.F.	20520	\$1.00	\$20,520.00	\$0.40	\$8,208.00	\$0.55	\$11,286.00
7	CONSTRUCTION DEBRIS AND	C.Y.	2054	\$18.00	\$36,972.00	\$90.00	\$184,860.00	\$23.00	\$47,242.00
8	UNSUITABLE MATERIAL REMOVAL BACKFILL	C.Y.	14000	\$15.00	\$210,000.00	\$10.00	\$140,000.00	\$15.50	\$217,000.00
9	CONTROLLED LOW STRENGTH	C.Y.	3350	\$80.00	\$268,000.00	\$98.00	\$328,300.00	\$114.00	\$381,900.00
10	MATERIAL (CLSM) BACKFILL FILTER MATERIAL	C.Y.	450	\$35.00	\$15,750.00	\$35.00	\$15,750.00	\$41.00	\$18,450.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$100,000.00	\$100,000.00	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00
12	FALSEWORK CLASS "A" CONCRETE, REINFORCED	L.F.	35	\$750.00	\$26,250.00	\$1,250.00	\$43,750.00	\$1,500.00	\$52,500.00
13	CONCRETE BOX CLASS "A" CONCRETE, MINOR	C.Y.	160	\$700.00	\$112,000.00	\$850.00	\$136,000.00	\$740.00	\$118,400.00
14	STRUCTURES CLASS "B" CONCRETE,	C.Y.	40	\$400.00	\$16,000.00	\$460.00	\$18,400.00	\$675.00	\$27,000.00
15	MISCELLANEOUS TRANSITION STRUCTURE NO. 1	EACH	1	\$7,000.00	\$7,000.00	\$21,000.00	\$21,000.00	\$21,500.00	\$21,500.00
16	JUNCTION STRUCTURE NO. 2	EACH	4	\$2,000.00	\$8,000.00	\$8,000.00	\$32,000.00	\$5,800.00	\$23,200.00
17	MANHOLE NO. 1	EACH	1	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00
18	MANHOLE NO. 2	EACH	3	\$5,000.00	\$15,000.00	\$8,500.00	\$25,500.00	\$7,000.00	\$21,000.00
19	MANHOLE NO. 2 WITH SAFETY LEDGE	EACH	1	\$7,500.00	\$7,500.00	\$6,000.00	\$6,000.00	\$14,000.00	\$14,000.00
20	MANHOLE NO. 4 WITH SAFETY LEDGE	EACH	3	\$8,500.00	\$25,500.00	\$16,000.00	\$48,000.00	\$17,000.00	\$51,000.00
21	18" RCP, CLASS IV	L.F.	151	\$120.00	\$18,120.00	\$77.00	\$11,627.00	\$135.00	\$20,385.00
22	18" RCP, CLASS V	L.F.	119	\$140.00	\$16,660.00	\$79.00	\$9,401.00	\$110.00	\$13,090.00
23	24" RCP, CLASS IV	L.F.	147	\$140.00	\$20,580.00	\$90.00	\$13,230.00	\$145.00	\$21,315.00
24	36" RCP, 1250D	L.F.	71	\$160.00	\$11,360.00	\$125.00	\$8,875.00	\$135.00	\$9,585.00
25	54" RCP, 1400D	L.F.	55	\$240.00	\$13,200.00	\$185.00	\$10,175.00	\$214.00	\$11,770.00
			I		Į			I	

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name:	UNIVERSITY WASH CHANNEL,	STAGE 3

 Project Number:
 1-0-0120-03

 Bid Open Date:
 9/28/2016

Bid Abstract



Page 2 of 10

			E	ENGINEER'S ESTIMATE MAMCO, INC. dba ALABBASI		BASI	H & H GENERAL CONTRACTORS, INC.		
ltem	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	60" RCP, 1400D	L.F.	11	\$280.00	\$3,080.00	\$280.00	\$3,080.00	\$400.00	\$4,400.00
27	66" RCP, 1800D	L.F.	8	\$300.00	\$2,400.00	\$330.00	\$2,640.00	\$500.00	\$4,000.00
28	90" RCP, 2000D	L.F.	2075	\$420.00	\$871,500.00	\$530.00	\$1,099,750.00	\$523.00	\$1,085,225.00
29	90" RCP, CLASS V	L.F.	351	\$445.00	\$156,195.00	\$738.00	\$259,038.00	\$740.00	\$259,740.00
30	AGGREGATE BASE, CLASS 2	C.Y.	215	\$70.00	\$15,050.00	\$48.00	\$10,320.00	\$125.00	\$26,875.00
31	HOT MIX ASPHALT (HMA)	TONS	475	\$100.00	\$47,500.00	\$150.00	\$71,250.00	\$175.00	\$83,125.00
32	TEMPORARY RESURFACING	TONS	120	\$100.00	\$12,000.00	\$25.00	\$3,000.00	\$110.00	\$13,200.00
33	CHAIN LINK FENCE	L.F.	490	\$50.00	\$24,500.00	\$35.00	\$17,150.00	\$25.00	\$12,250.00
34	TEMPORARY FENCING	L.F.	938	\$6.00	\$5,628.00	\$8.00	\$7,504.00	\$9.00	\$8,442.00
35	MISCELLANEOUS IRON AND STEEL	LBS.	9700	\$2.00	\$19,400.00	\$2.60	\$25,220.00	\$2.00	\$19,400.00
36	REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) HOUSE CONNECTION	L.F.	50	\$90.00	\$4,500.00	\$40.00	\$2,000.00	\$100.00	\$5,000.00
37	RELOCATE WATERLINE HOUSE SERVICE CONNECTION	EACH	1	\$1,000.00	\$1,000.00	\$2,800.00	\$2,800.00	\$4,400.00	\$4,400.00
38	EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
39	DUST ABATEMENT	L.S.	1	\$15,000.00	\$15,000.00	\$3,300.00	\$3,300.00	\$10,000.00	\$10,000.00
40	HYDROSEEDING	ACRE	2	\$4,000.00	\$8,000.00	\$2,400.00	\$4,800.00	\$2,100.00	\$4,200.00
41	STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00
42	NON-STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$5,000.00	\$5,000.00	\$1.00	\$1.00	\$10,000.00	\$10,000.00
					\$2,603,165.00		\$3,044,500.00		\$3,234,880.00

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

#### Project Name: UNIVERSITY WASH CHANNEL, STAGE 3

 Project Number:
 1-0-0120-03

 Bid Open Date:
 9/28/2016

**Bid Abstract** 



Page 3 of 10

	KEC ENGINEERING			DDH APPLE VALLEY CONSTRUCTION, C.P. CONSTRUCTION CO., INC.					
ltem	No. & Description	Unit	Quantity	Unit Bid	Total Bid	INC. Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$20,000.00	\$20,000.00	\$186,000.00	\$186,000.00	\$25,000.00	\$25,000.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$9,440.00	\$9,440.00	\$15,000.00	\$15,000.00
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$13,100.00	\$13,100.00	\$20,000.00	\$20,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$60,000.00	\$60,000.00	\$51,500.00	\$51,500.00	\$29,500.00	\$29,500.00
5	EXCAVATION	C.Y.	17000	\$8.40	\$142,800.00	\$2.72	\$46,240.00	\$15.00	\$255,000.00
6	ASPHALT CONCRETE EXCAVATION	S.F.	20520	\$1.30	\$26,676.00	\$0.95	\$19,494.00	\$1.00	\$20,520.00
7	CONSTRUCTION DEBRIS AND	C.Y.	2054	\$85.00	\$174,590.00	\$97.60	\$200,470.40	\$6.00	\$12,324.00
8	UNSUITABLE MATERIAL REMOVAL BACKFILL	C.Y.	14000	\$10.20	\$142,800.00	\$2.27	\$31,780.00	\$15.00	\$210,000.00
9	CONTROLLED LOW STRENGTH	C.Y.	3350	\$112.00	\$375,200.00	\$99.40	\$332,990.00	\$82.00	\$274,700.00
10	MATERIAL (CLSM) BACKFILL FILTER MATERIAL	C.Y.	450	\$30.00	\$13,500.00	\$35.50	\$15,975.00	\$28.00	\$12,600.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$48,000.00	\$48,000.00	\$45,300.00	\$45,300.00	\$165,000.00	\$165,000.00
12	FALSEWORK CLASS "A" CONCRETE, REINFORCED	L.F.	35	\$1,100.00	\$38,500.00	\$2,430.00	\$85,050.00	\$1,095.00	\$38,325.00
13	CONCRETE BOX CLASS "A" CONCRETE, MINOR	C.Y.	160	\$1,200.00	\$192,000.00	\$790.00	\$126,400.00	\$850.00	\$136,000.00
14	STRUCTURES CLASS "B" CONCRETE,	C.Y.	40	\$1,100.00	\$44,000.00	\$1,794.00	\$71,760.00	\$550.00	\$22,000.00
15	MISCELLANEOUS TRANSITION STRUCTURE NO. 1	EACH	1	\$16,000.00	\$16,000.00	\$27,700.00	\$27,700.00	\$19,500.00	\$19,500.00
16	JUNCTION STRUCTURE NO. 2	EACH	4	\$1,600.00	\$6,400.00	\$3,730.00	\$14,920.00	\$1,500.00	\$6,000.00
17	MANHOLE NO. 1	EACH	1	\$3,500.00	\$3,500.00	\$7,340.00	\$7,340.00	\$6,500.00	\$6,500.00
18	MANHOLE NO. 2	EACH	3	\$6,200.00	\$18,600.00	\$8,870.00	\$26,610.00	\$7,800.00	\$23,400.00
19	MANHOLE NO. 2 WITH SAFETY LEDGE	EACH	1	\$16,000.00	\$16,000.00	\$13,870.00	\$13,870.00	\$16,500.00	\$16,500.00
20	MANHOLE NO. 4 WITH SAFETY LEDGE	EACH	3	\$28,000.00	\$84,000.00	\$28,400.00	\$85,200.00	\$21,500.00	\$64,500.00
21	18" RCP, CLASS IV	L.F.	151	\$90.00	\$13,590.00	\$150.00	\$22,650.00	\$85.00	\$12,835.00
22	18" RCP, CLASS V	L.F.	119	\$85.00	\$10,115.00	\$140.00	\$16,660.00	\$86.00	\$10,234.00
23	24" RCP, CLASS IV	L.F.	147	\$120.00	\$17,640.00	\$152.60	\$22,432.20	\$95.00	\$13,965.00
24	36" RCP, 1250D	L.F.	71	\$140.00	\$9,940.00	\$218.40	\$15,506.40	\$116.00	\$8,236.00
25	54" RCP, 1400D	L.F.	55	\$235.00	\$12,925.00	\$285.00	\$15,675.00	\$208.00	\$11,440.00
								•	

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name:	UNIVERSITY WASH CHANNEL, STAGE 3
Due is at Number	4 0 0400 00

 Project Number:
 1-0-0120-03

 Bid Open Date:
 9/28/2016

**Bid Abstract** 



Page 4 of 10

		KEC ENGINEERING			DDH APPLE VALLEY CONSTRUCTION, C.P. CONSTRUCTION CO., INC.			D., INC.	
Item	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	60" RCP, 1400D	L.F.	11	\$280.00	\$3,080.00	\$455.00	\$5,005.00	\$275.00	\$3,025.00
27	66" RCP, 1800D	L.F.	8	\$400.00	\$3,200.00	\$319.00	\$2,552.00	\$346.00	\$2,768.00
28	90" RCP, 2000D	L.F.	2075	\$570.00	\$1,182,750.00	\$560.00	\$1,162,000.00	\$678.00	\$1,406,850.00
29	90" RCP, CLASS V	L.F.	351	\$800.00	\$280,800.00	\$835.00	\$293,085.00	\$841.00	\$295,191.00
30	AGGREGATE BASE, CLASS 2	C.Y.	215	\$83.00	\$17,845.00	\$62.60	\$13,459.00	\$60.00	\$12,900.00
31	HOT MIX ASPHALT (HMA)	TONS	475	\$180.00	\$85,500.00	\$198.00	\$94,050.00	\$125.00	\$59,375.00
32	TEMPORARY RESURFACING	TONS	120	\$130.00	\$15,600.00	\$142.00	\$17,040.00	\$65.00	\$7,800.00
33	CHAIN LINK FENCE	L.F.	490	\$40.00	\$19,600.00	\$38.00	\$18,620.00	\$30.00	\$14,700.00
34	TEMPORARY FENCING	L.F.	938	\$16.00	\$15,008.00	\$17.50	\$16,415.00	\$10.00	\$9,380.00
35	MISCELLANEOUS IRON AND STEEL	LBS.	9700	\$3.20	\$31,040.00	\$1.47	\$14,259.00	\$2.00	\$19,400.00
36	REMODEL 4-INCH VITRIFIED CLAY	L.F.	50	\$73.00	\$3,650.00	\$231.00	\$11,550.00	\$125.00	\$6,250.00
37	PIPE (VCP) HOUSE CONNECTION RELOCATE WATERLINE HOUSE	EACH	1	\$3,500.00	\$3,500.00	\$6,370.00	\$6,370.00	\$1,450.00	\$1,450.00
38	SERVICE CONNECTION EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
39	DUST ABATEMENT	L.S.	1	\$10,000.00	\$10,000.00	\$7,220.00	\$7,220.00	\$15,000.00	\$15,000.00
40	HYDROSEEDING	ACRE	2	\$2,200.00	\$4,400.00	\$2,470.00	\$4,940.00	\$3,500.00	\$7,000.00
41	STORMWATER AND NON-	L.S.	1	\$6,000.00	\$6,000.00	\$22,000.00	\$22,000.00	\$22,000.00	\$22,000.00
42	STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$5,000.00	\$5,000.00	\$15,800.00	\$15,800.00	\$3,000.00	\$3,000.00
					\$3,303,749.00		\$3,308,428.00		\$3,415,168.00

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

#### **UNIVERSITY WASH CHANNEL, STAGE 3 Project Name:**

**Project Number:** 1-0-0120-03 **Bid Open Date:** 

MANHOLE NO. 4 WITH SAFETY LEDGE EACH

18" RCP, CLASS IV

18" RCP, CLASS V

24" RCP, CLASS IV

36" RCP, 1250D

54" RCP, 1400D

3

151

119

147

71

55

L.F.

L.F.

L.F.

L.F.

L.F.

\$38,600.00

\$75.00

\$70.00

\$90.00

\$120.00

\$240.00

**Bid Abstract** 

20

21

22

23

24

25





Page 5 of 10

	Bid Open Date. 9/28/2016	0					i age s			
			LI	EATHERWOOD CONSTRU	ICTION, INC.	WEKA, INC.			HEMET MFG. CO., INC. dba GENESIS CONSTRUCTION	
ltem	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
1	MOBILIZATION	L.S.	1	\$50,000.00	\$50,000.00	\$151,539.00	\$151,539.00	\$145,000.00	\$145,000.00	
2	WATER CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	
3	TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$30,000.00	\$30,000.00	\$40,000.00	\$40,000.00	\$33,000.00	\$33,000.00	
5	EXCAVATION	C.Y.	17000	\$15.00	\$255,000.00	\$5.00	\$85,000.00	\$9.00	\$153,000.00	
6	ASPHALT CONCRETE EXCAVATION	S.F.	20520	\$1.50	\$30,780.00	\$0.50	\$10,260.00	\$1.50	\$30,780.00	
7	CONSTRUCTION DEBRIS AND	C.Y.	2054	\$70.00	\$143,780.00	\$34.00	\$69,836.00	\$83.00	\$170,482.00	
8	UNSUITABLE MATERIAL REMOVAL BACKFILL	C.Y.	14000	\$7.00	\$98,000.00	\$10.00	\$140,000.00	\$15.00	\$210,000.00	
9	CONTROLLED LOW STRENGTH	C.Y.	3350	\$100.00	\$335,000.00	\$145.00	\$485,750.00	\$65.00	\$217,750.00	
10	MATERIAL (CLSM) BACKFILL FILTER MATERIAL	C.Y.	450	\$41.00	\$18,450.00	\$40.00	\$18,000.00	\$27.00	\$12,150.00	
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$25,000.00	\$25,000.00	\$59,660.00	\$59,660.00	\$115,000.00	\$115,000.00	
12	FALSEWORK CLASS "A" CONCRETE, REINFORCED	L.F.	35	\$2,000.00	\$70,000.00	\$1,500.00	\$52,500.00	\$1,625.00	\$56,875.00	
13	CONCRETE BOX CLASS "A" CONCRETE, MINOR	C.Y.	160	\$715.00	\$114,400.00	\$1,000.00	\$160,000.00	\$923.00	\$147,680.00	
14	STRUCTURES CLASS "B" CONCRETE,	C.Y.	40	\$1,180.00	\$47,200.00	\$840.00	\$33,600.00	\$486.00	\$19,440.00	
15	MISCELLANEOUS TRANSITION STRUCTURE NO. 1	EACH	1	\$35,200.00	\$35,200.00	\$24,000.00	\$24,000.00	\$20,000.00	\$20,000.00	
16	JUNCTION STRUCTURE NO. 2	EACH	4	\$4,350.00	\$17,400.00	\$5,000.00	\$20,000.00	\$2,000.00	\$8,000.00	
17	MANHOLE NO. 1	EACH	1	\$9,550.00	\$9,550.00	\$5,600.00	\$5,600.00	\$6,000.00	\$6,000.00	
18	MANHOLE NO. 2	EACH	3	\$10,300.00	\$30,900.00	\$9,200.00	\$27,600.00	\$9,500.00	\$28,500.00	
19	MANHOLE NO. 2 WITH SAFETY LEDGE	EACH	1	\$21,500.00	\$21,500.00	\$17,200.00	\$17,200.00	\$13,000.00	\$13,000.00	
			_	•		•		•		

\$115,800.00

\$11,325.00

\$8,330.00

\$13,230.00

\$8,520.00

\$13,200.00

\$37,000.00

\$210.00

\$212.00

\$223.00

\$215.00

\$450.00

\$111,000.00

\$31,710.00

\$25,228.00

\$32,781.00

\$15,265.00

\$24,750.00

\$24,920.00

\$400.00

\$410.00

\$475.00

\$510.00

\$550.00

\$74,760.00

\$60,400.00

\$48,790.00

\$69,825.00

\$36,210.00

\$30,250.00

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name:	UNIVERSITY WASH CHANNEL, STAGE 3
Project Number:	1-0-0120-03

**Bid Open Date:** 9/28/2016

Bid Abstract



Page 6 of 10

	LEATHERWOOD CONSTRUCTION, INC.				JCTION, INC.	WEKA, INC.		HEMET MFG. CO., INC. dba GENESIS CONSTRUCTION	
ltem	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	60" RCP, 1400D	L.F.	11	\$635.00	\$6,985.00	\$400.00	\$4,400.00	\$560.00	\$6,160.00
27	66" RCP, 1800D	L.F.	8	\$835.00	\$6,680.00	\$532.00	\$4,256.00	\$580.00	\$4,640.00
28	90" RCP, 2000D	L.F.	2075	\$615.00	\$1,276,125.00	\$636.00	\$1,319,700.00	\$600.00	\$1,245,000.00
29	90" RCP, CLASS V	L.F.	351	\$815.00	\$286,065.00	\$851.00	\$298,701.00	\$641.00	\$224,991.00
30	AGGREGATE BASE, CLASS 2	C.Y.	215	\$130.00	\$27,950.00	\$55.00	\$11,825.00	\$55.00	\$11,825.00
31	HOT MIX ASPHALT (HMA)	TONS	475	\$265.00	\$125,875.00	\$135.00	\$64,125.00	\$234.00	\$111,150.00
32	TEMPORARY RESURFACING	TONS	120	\$77.00	\$9,240.00	\$115.00	\$13,800.00	\$162.00	\$19,440.00
33	CHAIN LINK FENCE	L.F.	490	\$39.00	\$19,110.00	\$28.00	\$13,720.00	\$22.00	\$10,780.00
34	TEMPORARY FENCING	L.F.	938	\$3.00	\$2,814.00	\$9.00	\$8,442.00	\$9.00	\$8,442.00
35	MISCELLANEOUS IRON AND STEEL	LBS.	9700	\$2.00	\$19,400.00	\$2.00	\$19,400.00	\$4.50	\$43,650.00
36	REMODEL 4-INCH VITRIFIED CLAY	L.F.	50	\$85.00	\$4,250.00	\$165.00	\$8,250.00	\$43.00	\$2,150.00
37	PIPE (VCP) HOUSE CONNECTION RELOCATE WATERLINE HOUSE	EACH	1	\$3,100.00	\$3,100.00	\$2,000.00	\$2,000.00	\$1,600.00	\$1,600.00
38	SERVICE CONNECTION EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
39	DUST ABATEMENT	L.S.	1	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
40	HYDROSEEDING	ACRE	2	\$2,550.00	\$5,100.00	\$2,150.00	\$4,300.00	\$2,000.00	\$4,000.00
41	STORMWATER AND NON-	L.S.	1	\$8,000.00	\$8,000.00	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00
42	STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
					\$3,437,759.00		\$3,576,698.00		\$3,580,720.00

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

#### Project Name: UNIVERSITY WASH CHANNEL, STAGE 3

Project Number:	1-0-0120-03
Bid Open Date:	9/28/2016

Bid Abstract



Page 7 of 10

				GWINCO CONSTRU	CTION &	LONEROCK, INC.		T.B.U., INC.	
ltem	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$108,000.00	\$108,000.00	\$180,000.00	\$180,000.00	\$70,000.00	\$70,000.00
2	WATER CONTROL	L.S.	1	\$4,000.00	\$4,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
3	TRAFFIC CONTROL	L.S.	1	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$55,000.00	\$55,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
5	WORK EXCAVATION	C.Y.	17000	\$21.00	\$357,000.00	\$10.00	\$170,000.00	\$12.00	\$204,000.00
6	ASPHALT CONCRETE EXCAVATION	S.F.	20520	\$0.20	\$4,104.00	\$0.50	\$10,260.00	\$13.50	\$277,020.00
7	CONSTRUCTION DEBRIS AND	C.Y.	2054	\$93.00	\$191,022.00	\$25.00	\$51,350.00	\$55.00	\$112,970.00
8	UNSUITABLE MATERIAL REMOVAL BACKFILL	C.Y.	14000	\$26.00	\$364,000.00	\$5.00	\$70,000.00	\$8.00	\$112,000.00
9	CONTROLLED LOW STRENGTH	C.Y.	3350	\$104.50	\$350,075.00	\$130.00	\$435,500.00	\$85.00	\$284,750.00
10	MATERIAL (CLSM) BACKFILL FILTER MATERIAL	C.Y.	450	\$30.50	\$13,725.00	\$45.00	\$20,250.00	\$250.00	\$112,500.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$20,000.00	\$20,000.00	\$85,000.00	\$85,000.00	\$25,000.00	\$25,000.00
12	FALSEWORK CLASS "A" CONCRETE, REINFORCED	L.F.	35	\$1,320.00	\$46,200.00	\$1,500.00	\$52,500.00	\$2,500.00	\$87,500.00
13	CONCRETE BOX CLASS "A" CONCRETE, MINOR	C.Y.	160	\$920.00	\$147,200.00	\$800.00	\$128,000.00	\$500.00	\$80,000.00
14	STRUCTURES CLASS "B" CONCRETE,	C.Y.	40	\$120.00	\$4,800.00	\$750.00	\$30,000.00	\$650.00	\$26,000.00
15	MISCELLANEOUS TRANSITION STRUCTURE NO. 1	EACH	1	\$20,500.00	\$20,500.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00
16	JUNCTION STRUCTURE NO. 2	EACH	4	\$18,400.00	\$73,600.00	\$8,000.00	\$32,000.00	\$22,000.00	\$88,000.00
17	MANHOLE NO. 1	EACH	1	\$7,000.00	\$7,000.00	\$12,000.00	\$12,000.00	\$24,000.00	\$24,000.00
18	MANHOLE NO. 2	EACH	3	\$11,000.00	\$33,000.00	\$16,000.00	\$48,000.00	\$12,500.00	\$37,500.00
19	MANHOLE NO. 2 WITH SAFETY LEDGE	EACH	1	\$19,800.00	\$19,800.00	\$20,000.00	\$20,000.00	\$23,500.00	\$23,500.00
20	MANHOLE NO. 4 WITH SAFETY LEDGE	EACH	3	\$35,700.00	\$107,100.00	\$50,000.00	\$150,000.00	\$25,000.00	\$75,000.00
21	18" RCP, CLASS IV	L.F.	151	\$203.00	\$30,653.00	\$120.00	\$18,120.00	\$150.00	\$22,650.00
22	18" RCP, CLASS V	L.F.	119	\$204.00	\$24,276.00	\$130.00	\$15,470.00	\$150.00	\$17,850.00
23	24" RCP, CLASS IV	L.F.	147	\$212.00	\$31,164.00	\$150.00	\$22,050.00	\$185.00	\$27,195.00
24	36" RCP, 1250D	L.F.	71	\$244.00	\$17,324.00	\$250.00	\$17,750.00	\$225.00	\$15,975.00
25	54" RCP, 1400D	L.F.	55	\$165.00	\$9,075.00	\$350.00	\$19,250.00	\$350.00	\$19,250.00
			I						

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

#### Project Name: UNIVERSITY WASH CHANNEL, STAGE 3

**Project Number:** 1-0-0120-03 Bid Open Date: 9/28/2016

Bid Abstract





Page 8 of 10

				GWINCO CONSTRU	CTION &	LONEROCK, INC.		T.B.U., INC.	
ltem	No. & Description	Unit	Quantity	ENGINEERING, INC. Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	60" RCP, 1400D	L.F.	11	\$206.00	\$2,266.00	\$400.00	\$4,400.00	\$525.00	\$5,775.00
27	66" RCP, 1800D	L.F.	8	\$247.00	\$1,976.00	\$450.00	\$3,600.00	\$500.00	\$4,000.00
28	90" RCP, 2000D	L.F.	2075	\$498.00	\$1,033,350.00	\$780.00	\$1,618,500.00	\$750.00	\$1,556,250.00
29	90" RCP, CLASS V	L.F.	351	\$700.00	\$245,700.00	\$950.00	\$333,450.00	\$750.00	\$263,250.00
30	AGGREGATE BASE, CLASS 2	C.Y.	215	\$175.00	\$37,625.00	\$25.00	\$5,375.00	\$75.00	\$16,125.00
31	HOT MIX ASPHALT (HMA)	TONS	475	\$223.00	\$105,925.00	\$150.00	\$71,250.00	\$150.00	\$71,250.00
32	TEMPORARY RESURFACING	TONS	120	\$168.00	\$20,160.00	\$50.00	\$6,000.00	\$125.00	\$15,000.00
33	CHAIN LINK FENCE	L.F.	490	\$22.00	\$10,780.00	\$30.00	\$14,700.00	\$40.00	\$19,600.00
34	TEMPORARY FENCING	L.F.	938	\$9.00	\$8,442.00	\$10.00	\$9,380.00	\$6.00	\$5,628.00
35	MISCELLANEOUS IRON AND STEEL	LBS.	9700	\$2.00	\$19,400.00	\$2.00	\$19,400.00	\$7.00	\$67,900.00
36	REMODEL 4-INCH VITRIFIED CLAY	L.F.	50	\$38.00	\$1,900.00	\$70.00	\$3,500.00	\$200.00	\$10,000.00
37	PIPE (VCP) HOUSE CONNECTION RELOCATE WATERLINE HOUSE	EACH	1	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00
38	SERVICE CONNECTION EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
39	DUST ABATEMENT	L.S.	1	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00
40	HYDROSEEDING	ACRE	2	\$4,400.00	\$8,800.00	\$2,000.00	\$4,000.00	\$3,500.00	\$7,000.00
41	STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00	\$8,500.00	\$8,500.00
42	NON-STORMWATER POLLO HON CONTROL NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
					\$3,648,242.00		\$3,833,055.00		\$3,976,438.00

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name:	UNIVERSITY WASH CHANNEL, STAGE 3				
Project Number:	1-0-0120-03				
Bid Open Date:	9/28/2016				

**Bid Abstract** 



Page 9 of 10

			В	BOUDREAU PIPELINE CORPORATION		GRANITE CONSTRUCTION COMPANY		MIKE BUBALO CONSTRUCTION CO., INC.	
Item No. & Description U		Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$109,000.00	\$109,000.00	\$343,520.00	\$343,520.00	\$500,000.00	\$500,000.00
2	WATER CONTROL	L.S.	1	\$54,000.00	\$54,000.00	\$14,000.00	\$14,000.00	\$30,000.00	\$30,000.00
3	TRAFFIC CONTROL	L.S.	1	\$39,000.00	\$39,000.00	\$44,000.00	\$44,000.00	\$20,000.00	\$20,000.00
4	CLEARING AND MISCELLANEOUS	L.S.	1	\$61,000.00	\$61,000.00	\$24,000.00	\$24,000.00	\$80,000.00	\$80,000.00
5	WORK EXCAVATION	C.Y.	17000	\$5.90	\$100,300.00	\$12.00	\$204,000.00	\$60.00	\$1,020,000.00
6	ASPHALT CONCRETE EXCAVATION	S.F.	20520	\$1.60	\$32,832.00	\$0.35	\$7,182.00	\$15.00	\$307,800.00
7	CONSTRUCTION DEBRIS AND	C.Y.	2054	\$83.00	\$170,482.00	\$30.00	\$61,620.00	\$100.00	\$205,400.00
8	UNSUITABLE MATERIAL REMOVAL BACKFILL	C.Y.	14000	\$11.90	\$166,600.00	\$14.00	\$196,000.00	\$30.00	\$420,000.00
9	CONTROLLED LOW STRENGTH	C.Y.	3350	\$153.00	\$512,550.00	\$190.00	\$636,500.00	\$80.00	\$268,000.00
10	MATERIAL (CLSM) BACKFILL FILTER MATERIAL	C.Y.	450	\$260.00	\$117,000.00	\$70.00	\$31,500.00	\$50.00	\$22,500.00
11	TRENCH SAFETY SYSTEM AND	L.S.	1	\$90,000.00	\$90,000.00	\$55,000.00	\$55,000.00	\$100,000.00	\$100,000.00
12	FALSEWORK CLASS "A" CONCRETE, REINFORCED	L.F.	35	\$1,400.00	\$49,000.00	\$1,250.00	\$43,750.00	\$2,000.00	\$70,000.00
13	CONCRETE BOX CLASS "A" CONCRETE, MINOR	C.Y.	160	\$983.00	\$157,280.00	\$1,000.00	\$160,000.00	\$800.00	\$128,000.00
14	STRUCTURES CLASS "B" CONCRETE,	C.Y.	40	\$573.00	\$22,920.00	\$1,500.00	\$60,000.00	\$600.00	\$24,000.00
15	MISCELLANEOUS TRANSITION STRUCTURE NO. 1	EACH	1	\$21,800.00	\$21,800.00	\$19,000.00	\$19,000.00	\$25,000.00	\$25,000.00
16	JUNCTION STRUCTURE NO. 2	EACH	4	\$2,300.00	\$9,200.00	\$7,900.00	\$31,600.00	\$6,000.00	\$24,000.00
17	MANHOLE NO. 1	EACH	1	\$10,100.00	\$10,100.00	\$6,200.00	\$6,200.00	\$12,000.00	\$12,000.00
18	MANHOLE NO. 2	EACH	3	\$12,000.00	\$36,000.00	\$12,000.00	\$36,000.00	\$18,000.00	\$54,000.00
19	MANHOLE NO. 2 WITH SAFETY LEDGE EACH		1	\$29,000.00	\$29,000.00	\$16,000.00	\$16,000.00	\$35,000.00	\$35,000.00
20	MANHOLE NO. 4 WITH SAFETY LEDGE EACH		3	\$36,000.00	\$108,000.00	\$35,000.00	\$105,000.00	\$50,000.00	\$150,000.00
21	18" RCP, CLASS IV	L.F.	151	\$156.00	\$23,556.00	\$160.00	\$24,160.00	\$120.00	\$18,120.00
22	18" RCP, CLASS V	L.F.	119	\$163.00	\$19,397.00	\$165.00	\$19,635.00	\$140.00	\$16,660.00
23	24" RCP, CLASS IV	L.F.	147	\$170.00	\$24,990.00	\$180.00	\$26,460.00	\$180.00	\$26,460.00
24	36" RCP, 1250D	L.F.	71	\$178.00	\$12,638.00	\$250.00	\$17,750.00	\$220.00	\$15,620.00
25	54" RCP, 1400D	L.F.	55	\$267.00	\$14,685.00	\$350.00	\$19,250.00	\$240.00	\$13,200.00
			I					l	

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name:	UNIVERSITY WASH CHANNEL, STAGE 3				
Project Number:	1-0-0120-03				
Bid Open Date:	9/28/2016				

**Bid Abstract** 



Page 10 of 10

			B	BOUDREAU PIPELINE CORPORATION		GRANITE CONSTRUCTION COMPANY		MIKE BUBALO CONSTRUCTION CO., INC.	
ltem	No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
26	60" RCP, 1400D	L.F.	11	\$484.00	\$5,324.00	\$400.00	\$4,400.00	\$400.00	\$4,400.00
27	66" RCP, 1800D	L.F.	8	\$422.00	\$3,376.00	\$420.00	\$3,360.00	\$500.00	\$4,000.00
28	90" RCP, 2000D	L.F.	2075	\$725.00	\$1,504,375.00	\$710.00	\$1,473,250.00	\$600.00	\$1,245,000.00
29	90" RCP, CLASS V	L.F.	351	\$970.00	\$340,470.00	\$800.00	\$280,800.00	\$800.00	\$280,800.00
30	AGGREGATE BASE, CLASS 2	C.Y.	215	\$109.00	\$23,435.00	\$105.00	\$22,575.00	\$40.00	\$8,600.00
31	HOT MIX ASPHALT (HMA)	TONS	475	\$182.00	\$86,450.00	\$100.00	\$47,500.00	\$120.00	\$57,000.00
32	TEMPORARY RESURFACING	TONS	120	\$345.00	\$41,400.00	\$170.00	\$20,400.00	\$70.00	\$8,400.00
33	CHAIN LINK FENCE	L.F.	490	\$37.00	\$18,130.00	\$35.00	\$17,150.00	\$40.00	\$19,600.00
34	TEMPORARY FENCING	L.F.	938	\$15.00	\$14,070.00	\$14.00	\$13,132.00	\$20.00	\$18,760.00
35	MISCELLANEOUS IRON AND STEEL	LBS.	9700	\$1.00	\$9,700.00	\$2.50	\$24,250.00	\$3.00	\$29,100.00
36	REMODEL 4-INCH VITRIFIED CLAY	L.F.	50	\$110.00	\$5,500.00	\$72.00	\$3,600.00	\$200.00	\$10,000.00
37	PIPE (VCP) HOUSE CONNECTION RELOCATE WATERLINE HOUSE	EACH	1	\$6,700.00	\$6,700.00	\$2,200.00	\$2,200.00	\$8,000.00	\$8,000.00
38	SERVICE CONNECTION EXTRA DIRECTED WORK	L.S.	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
39	DUST ABATEMENT	L.S.	1	\$8,800.00	\$8,800.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00
40	HYDROSEEDING	ACRE	2	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00
41	STORMWATER AND NON- STORMWATER POLLUTION CONTROL	L.S.	1	\$42,000.00	\$42,000.00	\$15,000.00	\$15,000.00	\$12,000.00	\$12,000.00
42	NON-STORMWATER POLLUTION CONTROL NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$14,600.00	\$14,600.00	\$1,500.00	\$1,500.00	\$6,000.00	\$6,000.00
					\$4,219,660.00		\$4,244,244.00		\$5,409,420.00